1 2 3 | 4 5 | 6 | 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELFASE LJH 08/13/05’ 2 LJC 08/13/05’
ITEM | PART NAME Q'ty NOTES B B ] YCH 09/13/07" Y LJC 09/13/07’
— I 1 PLASTIC HOOD 2 | ABS C s eiplaige - | YCH 07/18/08° Y LJC 07/18/08’
=1 o , [2:1] tong sotT 2 | #4-40 D s 4ty 3% | YCH 05/20/10° Y LJC 05/20/10’
- ‘ - 2.2| SHORT BOLT 2 #4—40 E M3+ 1284 yM3%10 | YCH 08/30/10’ Y%
I 3 NUT 2 M3 NOTES:
4 LONG SCREW 2 M3 1. Hardwares are all Nickel plated.
24.99 5 SMALL WASHER 2 2. PART NUMBER CODE:
6 SHORT SCREW 2 M3 DS1045 — 09 X X X X ><1
7.1| METAL WASHER 2 Washer type
30.8 7|7.2| PLASTIC—1 WASHER 2 ; V\FA)‘etot\. 1(Lock t )
- : Plastic—1(Lock type
12.0 73] PLASTIC—2 WASHER 2 3: Plastic—2(Screw type)
! Bolt type
‘ |_—|2 L: Long
—— — N S: Short
— ‘ — Packing type
‘ 1: Mix packing
‘ 2: Separation packing
[ Q: Full packing
‘ ©of = Cover Material
| 4 ) P: P‘OSUC(ABS)
|- ‘ Cover Color
- @ 1- F-— A: Gray
| | B: Black
| V: Ivory
Position
09: 9pin
SHORT SCREW 2 157
‘ — - _ - - 3 1.0 M3
y UNCH#4—40 3
12.0 D
7.0 3 g> 242 =
— bk | - C - | 5.40
a U_‘ | " ! Short BOLT NUT t=2.3mm
M3 5
4 Q \ <48
! ‘ L I} i T ‘ o /- &/ |
. J ! | | X
| \ =S ! R 4/} m\-{%{, w0
2 ! ! = o
4—40 UNC 8 g e = i
< ™)
8 o 2 Metal Plastic—1 Plastic—2 JONG SCREW SMALL WASHER
@ A == = -—1—- GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @ -F [ TITLE D_SUB 9o Hood
Y " X. +0.60 X, %5 UNITS mm P e
6.8 3 / ' : ¢ 1w SERIES | DS1045 SERIES
13.5 S X £0.38 X x3 SHEET SIZE A4 |
0.5 XX +0.25 XX £2°
»
a4 DRAWING TYPE |COSTOMER )T% ﬁ]}] EE ? ﬁ I:{E Z\ a
Long BOLT SCALE [ SHEET | 1 OF 1
DRAWING NO. | c—Ds1045—09xXXxx—E | €ornmFLy CONNFLY ELECTRONIC CO. LTD
1 2 I 3 4 | 5 6 I 7 8




1 2 3 | 4 5 | 6 I 7 | 8

BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED A
’ A NEW RELEASE LJH 05/18,/05’ ~ LJC 05/18/05°
TEM | PART NAME Qty NOTES B A4 90 YCH 09/13/07 ~ LJC 09/13/07’
/_I’l—‘—hﬂ‘ ! PLASTIC HOOD 2 | ABS C e yiimig 2 - | YCH 07/18/08° ~ LJC 07/18/08’
u_m_u g |21 | LONG BOLT 2| #4-40 D M A EE R | YCH 05/20/10° | ~—
i 2.2| SHORT BOLT 2 #4-40 NOTES:
‘ 33.39 ‘ 3 NUT 2 M3 1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 DS1045 — 15 X X XXX
Washer type
6 SHORT SCREW 2 M3 1: Metal
7.1| METAL WASHER 2 M3 2: Plastic—1(Lock type)
3: Plastic—2(Screw type)
7 |7.2| PLASTIC—1 WASHER 2 ABS Bolt type
7.3| PLASTIC—2 WASHER | 2 ABS L: Long
S: Short C
! _\ ‘ Packing type
E " 1: Mix packing
) \ ! 2: Separation packing
| ) Q: Full packing —
‘ Cover Material
2 P: Plastic(ABS)
———Cover Color
15.7 A: Gray D

35.9
37.1

‘ & L0 B: Black

": § UNC#4-40 \: \vory
M ——Position
ffL—JrH——— 15: 15pin

Short BOLT

E
12.0
9.9 61> %@\ LONG SCREW NUT t=2 3mm
|
<
Y \ — W - ! F
N : . -
X \ - ~ o Z 7.7 |
| InnEEE B MsjE & 'S u
N > ‘/?2‘ ‘%j | TN ‘53\2
el M25 | | S — - - o
2 7.5
Metal Plastic—1 Plastic—2 | : G
4—40 UNC 93 — - = - - = - - - - - = - - - 1 :
2 SHORT SCREW SMALL WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION - TITLE
i | NS @ E} TTE] ) sus 15pin Hood
4.0 X. £0.60 X. 5 —
6.6 3 " X +0.38 X 3 SHEET SIZE A4 SERIES | DS1045 SERIES
13.5 3 3 XX £0.25 XX £2°

30.5 DRAWING TYPE |COSTOMER fﬂ EE ? %‘ IKE A j
44 SCALE 1:1 [SHEET [ 1 OF 1 H

Long BOLT DRAWING NO. | C—DS1045—15XXXXX—-D | CORMFLY CONNFLY ELECTRONIC CO. LTD

1 2 | 3 4 [ 5 6 | 7 | 3




1 2 3 4 5 | 6 I 7 | 8

L

REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 10/26/05' ~ LJC 10/26/05'
ITEM PART NAME Qty NOTES B A i YCH 09/13/07’ ~ LJC 09/13/07
54.0 1 PLASTIC HOOD 2 ABS C HEIIEIRE2 R | YCH 07/18/08' N~ LJC 07/18/08’
4704 5|21 LONG BOLT 2 #4-40 D 7 4 s e YCH 05/20/10’ ~U
* | 2.2| SHORT BOLT 2 #4-40
11.0 3 NUT 2 M3 NOTES:
1. Hardwares are all Nickel plated.
! | | 4 LONG SCREW 2 M3 2. PART NUMBER CODE:
Erl: ! :I'Iﬂ 5 SMALL WASHER 2 DS1045 — 25 X X X X X
1 T J 6 SHORT SCREW 2 M3 T Washer type
1: Metal
‘ 7.1| METAL WASHER 2 M3 2 . 2: Plastic—1(Lock type)
7 | 7.2] PLASTIC—1 WASHER 2 ABS o 3: Plastic—2(Screw type)
7.3| PLASTIC-2 WASHER | 2 ABS o UNC#4—40 EOE type
] : Long
8.0 S: Short
% 76474"377 POCKRZ; type
i 1: Mix packing
‘ 2: Separation packing
i Short BOLT Q: Full packing
: Cover Material
‘ P: Plastic(ABS)
] l 3 ————Cover Color
A: Gray
! B: Black
‘ M3 ) V: Ivory
' ——— Position
|
- 25: 25pin
! g 4
’_/ < \ =
J: \ :L NUT t=2.3mm
\

[
/W —180 ‘ N
= o i I
| ] {e==g) s | :
T T l £0 %
2 M3 §
. | . f\gsticfi . . f‘SSﬁC72 . .
4-40 UNC 8 =
b g SHORT SCREW
\
@ ! SRR GENERAL TOLERANCE| ANGLE TOLERANCE —} [TITLE
|40 I PROJECTION @ 4 D—SUB 25pin Hood
65 o ) X. +0.60 X. %5 UNITS mm
135 2 ¥ X  +0.38 X 3 SHEET SIZE A4 SERIES [ DS1045 SERIES
' o XX +0.25 XX x2
4 DRAWING TYPE |COSTOMER @ th( #]] EE; % ﬁ‘ I}E j
Long BOLT SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. | c—Ds1045—25xxxxx—D | €omRFfLY CONNFLY ELECTRONIC CO. LTD
1 2 I 3 4 | 5 6 I 7 I 8




1 2 4 S | 6 | | 8
oM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
. A NEW RELEASE LJH 10/26/05’ ~ LJC 10/26/05
TEM | PART NAME Oty NOTES B A YCH 09/13/07° ~ LJC 09/13/07’
L Eg’;i”;ofw i ;iio c RS2 ) | YCH 07/18/08" ~ LJC 07/18//08’
o > 4420 D Wi 4bu % | YCH 05/20/10° ~
3 NUT 2 M3
NOTES:

4 LONG SCREW 2 M3 1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 2. PART NUMBER CODE:
6 SHORT SCREW 2 M3 DS1045 — 37 XX XXX

71| METAL WASHER | 2 | M3 Jlasher type
7 |7.2| PLASTIC—1 WASHER 2 ABS 2: Plastic—1(Lock type)

7.3| PLASTIC-2 WASHER 2 ABS 3: Plastic—2(Screw type)

Bolt type

L: Long

S: Short
Packing type

53
51.

1: Mix packing
2: Separation packing
1.7 Q: Full packing

1.0 Cover Material
& UNC#4—40

| P: Plastic(ABS)
————Cover Color
7\7,"},7, A: Gray
B: Black
V: Ivory
———— Position
37: 37pin

\
o

Short BOLT

[ W

LONG SCREW

4.8

(——T——\
9.5

=)

/M3 16.0 i

| {EE=D Tlem

2.6

Q

,
Y
5

6.0

Plastic—1 Plastic—2

SHORT SCREW

4-40 UNC
! GENERAL TOLERANCE

<g E’ I
|
4.0 X.

ANGLE TOLERANCE

PROJECTION | @—€F [TITLE |

UNITS mm

3 [e!

e [t

Q| I
|

|

|

D—SUB 37pin Hood

+0.60 X. £5

6.6

$3.98
94.3

X £0.38 X 3 SHEET SIZE A4

SERIES | DS1045 SERIES

13.5

XX £0.25 XX 22

= 44 DRAWING TYPE |COSTOMER @ }% ;2[}] EE‘ ? ﬁ I}E /L)‘\ a

SCALE 1:1 [SHEET [1 OF 1

2 I 3 4 | 5 6 I 7 I 8




2 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 05/24/11’ N
69.50
61.00
NOTES:
1. PART NUMBER CODE:
DS1045 — 50 X X X
Packing type
1: Mix packing
1 2: Separation packing
1110 S3.80 \ Cover Color
A: Gray
= 2 N =) X N B: Black
\ Cover Material
CD P: Plastic(ABS)
—— Position
50: 50pin
» I T T o ™ -
& &
< ¥ }
3
Vs N I \
M3 § UNCH#4—40 o
1272 '\“Jl @/
5.0
NUT t=2.3mm 105 6.0
2
& S,
Q% q/_(J 4 BOLT
11.5
= @ ©
i LONG SCREW
6
5
M3 3.5
=9
) ) a
© g
BOM LIST LONG SCREW BIG WASHER
ITEM | PART NAME Q'ty NOTES
1 PLASTIC HOOD 2 ABS
GENERAL TOLERANCE| ANGLE TOLERANCE {E]» TITLE
2 BOLT 2 #4-40 PROJECTION @ 4 D—SUB 50pin HOOD
3 [ ot 2 [ws X. £0.60 X. %5 UNITS mm
4 M3*10 SCREW 2 M3 X +0.38 X 3 SHEET SIZE A4 SERIES | DS1045 SERIES
5 M3*12 SCREW 2 M3 XX +0.25 XX =2
6 BIG WASHER 2 M3 =] Al S /\ —y
DRAWING TYPE [CUSTOMER ).L?é /]ZI Z_\ =
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. C—DS1045—50XXX connFLy CONNFLY ELECTRONIC CO. LTD
2 4 | 5 6 I 7 I 8




1 2 3 4 5 | 6 I 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE LJH 12/20/05 N LJC 12/20/05’
B ST P i YCH 09/14/07' N

NOTES:

1. PART NUMBER CODE:
DS1048 — 09 X X X X
7T T Iy T Bolt type

L: Long
J i |_ S: Short

X Packing type

1: Mix packing
2: Separation packing

Cover Material
P: Plastic(ABS)

1
\ /8 /8 ——— Cover Color
AG——":D— i At Gray
| " B: Black
1 = V: lvory
| ™
! [ Position
' T 1 09: 9pin
| ] i
| ip}
| 0 N I
o 2
Ny 14.3
4—40 UNC
‘ Short BOLT
BOM LIST ] 3 o © 4
mu 4-40 UNC s S|
ITEM PART NAME Q'ty NOTES k] Q @ pY ] L
1 PLASTIC HOOD 2 ABS ﬂ__.\
2 | soLT 2 | #4-40 & e
30.5
44.0
Long BOLT
GENERAL TOLERANCH ANGLE TOLERANCE @ [TITLE
PROJECTION TTLE | PLASTIC FROM THE LOCK TYPE
X.  +0.60 X.  £5 UNITS mm
X +0.38 X 3 SHEET SIZE A4 SERIES [ DS1048 SERIES
XX £0.25 XX £
=¥ A
DRAWING TYPE [COSTOMER = 7 /N H
SCALE 1:1 | SHEET [1 OF 1
DRAWING No. | C—DS1048—=09500K connFLy CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8




3 4 S | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE LJH 12/20/05 Y LJC 12/20/05
B P YCH 09/14/07’ N

NOTES

1. PART NUMBER CODE:

DS1048 — 25 X X X X
TBolt type
L: Long
S: Short
BOM LIST Packing type
ITEM PART NAME Qty NOTES 1: Mix packing

2: Separation packing
1 PLASTIC HOOD 2 ABS

\
I

Cover Material
| ) 2 BOLT 2 #4-40 P: Plastic(ABS)

mT | [\]
i M Cover Color
A: Gray

‘ B: Black
. V: Ivory

Position
25: 25pin
8.7 85

n

e
N

44

10.7

a
L

4—40 UNC

#
o
o
.
jﬂI #3.05
$2.30
1 #3.98
\

o 2
Iy 14.3
4—40 UNC

Short BOLT

24.30

>
e

13.5

30.5

44.0

Long BOLT
GENERAL TOLERANCE| ANGLE TOLERANCE & [TLE
PROJECTION [TTLE | PLASTIC FROM THE LOCK TYPE
X.  +0.60 X, %5 UNITS mm
X +0.38 X x3 SHEET SIZE SERIES | DS1048 SERIES
XX 10.25 XX 12

DRAWING TYPE |COSTOMER

SCALE 1:1

[SHEET |1 OF 1

DRAWING NO.

C—DS1048—-25XXXX

R T

connFLy CONNFLY ELECTRONIC CO. LTD

4 |

5

6

7 I

8




2 3 4 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 02/23/08’ N
NOTES:

1. HOODS MATERIAL:ABS
2. PART NUMBER CODE:

2.77

2.77

DS1055— X X X X X X
[MALE] 49.1(ref) TTT Bort ¢
olt type
_—— 2.84 L: Long
A ) — %on(tgdsﬁi‘sméﬂ% ti Id flash
N T ] : - elective go as
8 L RRRS ) R445 Full gold flash)
— D — —1 Cover color
= 5 9%[;:5: V: Ivory
o i (LI o Cray
q}ﬂ} 2 (=1 A: Gray
& M Lt ———Position
{Vﬁ} = == 8: 8p8c
U " & p——l=—=— 4: 4p4c
% = - Connector type
@ W @ M: Male
\ Y, : . F: Female
12.5 L No. of contact
09: 9pos.
15: 15pos.
FEMALE 25: 25pos.
[ J 49.1(ref) 37: 37pos.
2.84
R [ i .
© o kRS @
) = 1= .
= =
O|l | o = (LI
o) | gl =H
o =
o = =
= (= =
7aa
=y = oo @
12.5
GENERAL TOLERANCE| ANGLE TOLERANCE TITLE
PROJECTION | @—F [TME] 5 crivp TvPE AND PCB JACK
X.  +0.60 X. 45 UNITS mm
X +0.38 X 13 SHEET SIZE A4 SERIES | DS1055 SERIES
XX +0.25 XX +2° =
DRAWING TYPE |[CUSTOMER @ = f;]}] Eﬁ % ﬁ IKE /ZA\ a
SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. | C=DS1055—XXXXXXX connFLY CONNFLY ELECTRONIC CO. LTD

2 3 4 | 5 6 I 7 I 8




2 3 4 5 | 6 | 7 l 8

52.20

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 08/30/07' o
24.99
‘ NOTES:
‘ BOMLIST 1. HOODS MATERIAL: ABS
< ‘ T ITEM PART NAME Q'ty NOTES 2. PART NUMBER CODE:
[_| L\ ! F[ |_‘ 1 PLASTIC HOOD 2 ABS DS1061 — 09 X X X
2 BOLT 4 4—40 T 7T
i LPQCkmg type
1: Mix packing
31.08 2: Separation packing
32.88 15.00 S 16.40 Cover Color
- A: Gray
B: Black
— V: lvory

Cover Material
P: Plastic(ABS)

Position
09: 9pin

N

/

354.80 .

' 1T
/
—1 —
2
GENERAL TOLERANCE| ANGLE TOLERANCE “&F [TITLE
/ PROJECTION | @ -} [TTLE} ) 9pin Cover
N ioss N iy EEEEST SIZE v SERIES | DS1061 SERIES
- X  +0.38 X 3 A4
4—40 UNC XX 10.25 XX 20
»
DRAWING TYPE |COSTOMER @ )T% ﬁ]}] EE‘ ? %‘ I}E Z\ a
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1061—09XXX cornnFLYy CONNFLY ELECTRONIC CO. LTD
2 ! 3 4 [ 5 6 I 7 I 8




2 3 4 5 | 6 | 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 08/30/07' o
47.04
( W BOM LIST 1. HOODS MATERIAL: ABS
- \ vl ITEM | PART NAME Q'ty NOTES 2. PART NUMBER CODE:
‘ H 1 ! I H ’ 1 PLASTIC HOOD 2 ABS
1 2 | BOLT 4 | #a-40 DST061 = 25 X X X
LPQCkmg type
5300 1: Mix packing
55.40 16.20 8 38.06 2: Separation packing

Cover Color

52.80

] A: Gray
B: Black
V: lvory

Cover Material
P: Plastic(ABS)

—

|

25: 25pin

34.80

\

1)
=

M)
i

=

|
|
|
|
i —— Position
|
|
|
|
\

14.30 2
1.80
K GENERAL TOLERANCE| ANGLE TOLERANCE 7 TITLE
K 4-40 UNC_ EEIC;JSECT'ON © ] [TTiE] D—SUB 25pin Cover
2.50 X. +0.60 X. #5 mm
6.70 X +0.38 X £33 SHEET SIZE A4 SERIES [ DS1061 SERIES
XX +0.25 XX £2°
»
DRAWING TYPE |COSTOMER @ )T% ﬁ]}] EE‘ ? %‘ I}E Z\ a
SCALE 1:1 | SHEET [1 OF 1
DRAWING NO. | C—DS1061—25XXX cornnFLYy CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8




1 2 3 4 5 | 6 | | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELFASE YCH 12/16/09’ o
47.04
24.99
BOM LIST
’ 1. HOODS MATERIAL: ABS
ITEM | PART NAME Q'ty NOTES 2 PART NUMBER CODE:
1 PLASTIC HOOD 2 ABS
5 SoLT . #1-40 DS1061-01 — 925 X Xﬁ
Packing type
1: Mix packing
8'2235-40 16.00 2: Separation packing
Cover Color
— , A: Gray
| B: Black
! ! V: lvory
Cover Material
D :I P: Plastic(ABS)
Position
R 925: 9 to 25pin
0
5 1
o ; ; /
54.80 38.50
13.70 5
1.00 /
— GENERAL TOLERANCE| ANGLE TOLERANCE - TITLE
4—40 UNC PROJECTION @ = 4 D—SUB 9 TO 25 PLASTIC HOODS
5 s X. +0.60 X. 5 UNITS mm
X £0.38 X £33 SHEET SIZE A4 SERIES | DS1061—01 SERIES
6.7Q XX +0.25 XX 2 = \
DRAWING TYPE [COSTOMER = #; } EE‘ ? ﬁ I:{ O H
SCALE 1:1 | SHEET [1 OF 1 ]] E e j
DRAWING NO. | c—-DsS1061—01—925xxx | €ommFLy CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8




